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[Drawlmage].line ({if & . fill=f& . width=2%§) [Drawlmage] rectangle (818 . outline=f ., fill=f&)

from PIL import Image from PIL import Image

from PIL import ImageDraw, ImageColor from PIL import ImageDraw, ImageColor
img=1mage.new('RGB',§300,300).(255.255.255)) img=Image. new (' RGB" , (300, 300), (255, 255, 255))

draw=ImageDraw. Draw (img) draw=ImageDraw. Draw (img)

. _ draw. rectangle ([0, 0, 299, 2997, out | ine=(255, 0, 0))
for n in range(0, 10) for n in range(0, 10):

draw. | ine ([ (50+n*20, 50), (50+n*20, 250) ], fil1=(255, 0, 0), width=n) . _ = . N B
draw. | ine ([ (50, 504n%20) . (250, 50+1%20) ] Fi 1= (0. 255. 255) . width=n) draw. rectangle ([50+n*10, 50+n*10, 250-n*10, 250-n*10], fi | |=(255-n*25, 255-n*25, 255-n*25))

img img]
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Drawl text(RLE. THAR. font=74Vb, fill=&)
[Drawlmage].ellipse (fE1E . outline=& . fill=f&) [Drawlmage] text(GLE. T on ,

from PIL import Image from PIL import Image

from PIL import ImageDraw, ImageColor from PIL import ImageDraw, ImageColor, ImageFont

img=Image. new ( RGB", (300, 300), (255, 255, 255)) img=Image. new (' RGB', (300, 300), (255, 255, 255))

sl Sl e i . draw=ImageDraw. Draw (img)

e oy outline=(205.0.00) draw. el | ipse ([50, 50, 250, 250], fi|1= (255, 100, 100))

draw. el | ipse ([50+n%10, 50+n%10, 250-n10, 250-n%10], Fi | 1= (%25, n%25, n¥25)) fnt=ImageFont. truetype ("arial. ttf’, 35)

draw. text ((10,50), "Hello!", fill1=(0, 0, 255))

img draw. text ((10, 100), 'Happy New Year', font=fnt, fill=(0, 255, 255))
img

Hello!
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[Image] .paste ([Image]. {i &) [Image].crop (4E15)

from PIL import Image

from PIL import ImageDraw, ImageColor, ImageFont from PIL import Image

from PIL import ImageDraw, ImageColor, ImageFont
img=Image. open (' &L IL. jpg’)

(w, h)=img. size img=Image. open (' E L. jpg’)

img2=img. resize (w//3.h//3)) (w, h)=img. size = 1609 653
img. paste (img2, (0, 0)) print (w, h)

img. paste (img2, w//3,h//3)) img2=img. crop ([w//5,h//5,w//3,w//3]) W

img. paste (img2, (w//3%2, h//3%2)) img. paste (img2, (1300, 50))

img img

woo VA R = _FN
>3 (1300, 50)
A

I 1

Wl sSsw| sw| >
ul] S

(1609, 653)
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a2 = o IR K e . OS5
2 #1=Image.blend ([Image]. [Image]. B BE) ZH= [Image]lmerge (E—F. /A=)

from PIL import Image import sys

from PIL import ImageDraw, ImageColor, ImageFont from PIL import Image

i CEHL ing') img=Image. open (' EL 1. jpg’)
'(mgﬁ)f?ﬁg: 2?22 B gry=img. convert (L")
img2=Image. new( RGB’ . (w, h), (255, 255, 255)) r=gry. point (lambda x: x*1.0)
drw=ImageDraw. Draw (img2) g=gry.point (lambda x: x*0.75)

for n in range(0, 10) :

b=gry.point (lambda x: x*0.5)
drw. rectangle ([w//10%n, 0, w//10% (n+1) , h], fil = (n*25, n¥25, n¥25)) img2=Image. merge (RGB’, (r,g. b))
bld_img=Image. blend (img, img2, 0. 75)|

bld_img img2




7.|__|‘:|~/|‘3X|‘ FTREE ZEH=ImageOps.flip([Image])

P I
ZX #1 =ImageOps.autocontrast ([Image]. cutoff={E. ignore=f&) EGRE  Z#=ImageOps.mirror([Image])
BEDERANT T LDcutoffEAT IFRBSNT VEEREL Z#=ImageOps.invert ([Image])

= AV

hL—-Ar—ik
%7& — ImageOps.grayscale ([Image:D

from PIL import Image
from PIL import|ImageOps

WSS
img=Image. open ( E+ L. jpg’) ZE# =1ImageOps.posterize ([Image]. £ v}k
img2=ImageOps. autocontrast (img, cutoff=25) . . .
img2 8t wh(2566) 2twh(48) 1Ewh(288)

E1TH 2E' vk (48)
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Z # =ImageOps.solarize([Image]. L=\ \iE) Z # =ImageOps.colorize([Image].

LELME: 0~127 white=f, black=£&)

. from PIL import I[mage
from PIL import Image from PIL import I[mage(Ops

from PIL import ImageOps

img=Image.open( E L. ipg )
img=Image. open ( &1+ LL. jpg’) imgZ=Imagelps.colorize(lmageOps.grayscalelimg),¥
img2=ImageOps. solarize (img, 100) white=(100,255,255) ,black=(150,0,0))

img2 Img2
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Z # =ImageOps. equalize([Image])

from PIL import Image
from PIL import ImageQps

img=Image.open( BT L.Ipg )
imgZ2=Imagelps.equalizelimg)
Img%
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darker lighter
2ONAA—CDEENEEESTERK 2DDAA—TDHLWNAZESDTERK

from PIL import Image from PIL import Image

from PIL import from PIL import [ImageChops]

from PIL import ImageDraw, ImageColor

from PIL import ImageDraw, ImageColor

img=Image. open (' &=L IL. jpg')
(w,h)=img.size
img2=Image. new (' RGB", (w, h), (255, 255, 255))
drw=ImageDraw. Draw (img2)
for n in range(0, 10) :
drw. rectangle ([w//10%n, 0, w//10% (n+1) , h], fi | |=(n*25, n*x25, n¥25))
img3=ImageChops. (img, img2)
Zimg3=ImageChops. | ighter (img, img2)

img=Image. open (' & 1L. jpg’)

(w, h)=img. size

img2=Image. new (' RGB", (w, h), (255, 255, 255))
drw=ImageDraw. Draw (img2)

for n in range(0, 10) :

drw. rectangle ([w//10%n, 0, w//10% (n+1), h], fi | |=(n*25, n¥25, nx25))
Zimeg3=ImageChops. darker (img, img2)

img3=ImageChops (img, img2)
img3

B

img3




ME  Z#=ImageChops. add([Image1], [Image2], scale=ZE %}, offset=Z %)
FEH LTH=ImageChops. multiply([Image1], [Image2])

JBE  ZE M =ImageChops. subtract([Imagel], [Image2], scale=3E#{, offset=%})
= Z #1 =ImageChops. difference([Image1], [Image2])

TRYT ZEHH =ImageChops. composite([Imagel], [Image2], [mask])
from Pl ot Image 1 [<mask T/RE$H 1, Image 2% [Z AL

from PIL import ImageDraw, ImageColor

img=Image. open( E 1. jpg’')
(w, h)=img. size . .
img2=Image. new ( RGB', (w, h), (255, 255, 255)) TJUL—RT—)VIZRARYTREDH T, EXWWZEEEYTIT
drw=ImageDraw. Draw (img2)
for n in range(0, 10) :

drw. rectangle ([w//10%n, 0, w//10% (n+1), h], fil1=(n*25, n*¥25, n*25))
msk=Image. new (' RGB", (w, h), (255, 255, 255))
msk_drw=ImageDraw. Draw (msk)
msk_drw. el | ipse ([50, 50, w=50, h-50], fil[=(0, 0, 0))

img3:lmage0hopsimg2, img, msk. convert ('L"))
img3




